NAME

/
/

F3

2R FIEL

TEHSENO 3

mistake

fREHNO1 2 DR

@D x2—36=0

@ x2—12=0

® 49x2=64

@ x2—32=0

® 25x2=6

® 6x2—5=0

@ x2—80=0

x2—5=4

@ x2+3=21

x2—=T=17

@ 16x2+2=10

® 27x2—8=22

® 12x24+9=11

24x2— 5=6x2

@ 21x2—28=3x2

REENO3 DREIEE

® (x—2)2=9

@ (x+4)2=64

® (x—17)2=8

@ (x+5)2=20

® (x—9)2=50

x(4x+1)=0

@ 3x(5x—3)=0

mistake

@ —2x(3x+8)=0

® (2x+5)(3x+3)=0

(6x—7)(4x+6)=0

® (9x—8)(5x—17)=0

® (x—3)2—49=0

@ (x+6)2—32=0

(x—=5)(x+3)=0

@ (x+8)(x—2)=0

fREHNO4 5 DRIEE

BIEO2®
@O x2—4x =0

HIEOO®
®@ x2="Tx

FIEOD®
® 8x2—6x=0

BIEGGE©D
@ x2—4x+3=0

BIEOOED
® x2+2x—8=0

FIEO®OO©D
© x2+12x+35=0

BIEE®

ZIERNOY F<ENBEHHR
™ 25x2—10x+1=0

BIFE®

ZIERNOY T<ENBEMH R
M2+ 12x+4=0

fRSNO1
© 9x2—1=3

fREENO1
49x2—11=14

ZIEXNO10 - fZEINO4
@ 3x2—12x+12=0

mistake

HIEG®O®
@ 38x2—3x+ 10=2x(x+2)

FIE®O®
® —3)+1)—T=—2

HlE®®
(x+3)2=4x+9

HIE®®
® (2x—D(x+1)=(x+1)2

mistake




